
1) 6/109 of 218

Answer: ____________

2) (7 x 22) + (1 x 49)

Answer: ____________

3) Solve by factorising 
s2 - 7s + 10 = 0

Answer: ____________

4) 501.9 - 609.3

Answer: ____________

5) An amount was decreased by 9% to 
$182.00. Find the original amount.

Answer: ____________

6) (7 x 2) + 19 - 7

Answer: ____________

7) Solve by factorising 
d2 - 5d - 6 = 0

Answer: ____________

8) Solve by factorising 
d2 - 5d - 6 = 0

Answer: ____________

9)
Find the next three numbers in 
the sequence
50,52,260,262,1310,1312,6560__,__,__

Answer: ____________

10)

'Name the type of angle.

Answer: ____________

11) 10 x 10

Answer: ____________

12) 283 x 650

Answer: ____________

13) 07:45 am To 11:07 am

Answer: ____________

14) 31 x (-2)

Answer: ____________

15) Find the mode of the following set of data:

82, 82, 82, 82, 19, 19, 36, 36, 36, 
36, 36, 72, 72

Answer: ____________
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16) Round 1.41753124 to 6 significant 
figures.

Answer: ____________

17) Factorise s2 + 4s + 4

Answer: ____________

18) Find perimeter of 
square having each 
side (s) equals 772 cm

Answer: ____________

19) Find the percentage change from 1 to 
92

Answer: ____________

20) (-140) ÷ 14

Answer: ____________

Total: ___ / 20
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Answers:

1) 12 2) 262172 3) s = 5 or 2 4) -107.4 5) $165.62 6) 7) d = 6 or -1

8) d = 6 or -1 9) 6562,32810,32812, 10) Straight 11) 100 12) 183950 13) 03 Hours 22 Mins 14)

15) 36 16) 1.41753 17) (s + 2)(s + 2) 18) 3088cm 19) 9100% 20) -10
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